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1. What is the n™ term of the sequence
25, =125, 625, 3125, ... 7
(a) . (~5)""!
U‘J} l:'—J_\:IE“ 5!'I.+]
81 =1FlphH
Ld] s ”n—l 5I1+1
B Suppese X = {1, 2, 3, 4} and R is a relation on
XIUR=1(1, 1),(22),(3,3}(1,2),(2,1),(2,3),
(3, 23}, then which onc of the following is
correet ?
{a) R is reflexive and symmetric, bul not
transitive
(b)> R is symmetric and transitive, but not
reflexive
fe) R is reflexive and transitive, but not
symmetric
(d) R is neither reflexive nor transitive, but
symmetric
3. A relation R is defined on the sel N of natural
numbers as xRy = x° - dxy + 3y* = 0, Then
which one of the following is correct 7
{a} R is reflexive and symmetric, but not
transitive
(b} R is reflexive and transitive, but not
symmetric
ie) R isreflexive, symmetric and transitive
(d) R isreflexive, but neither symmetric nor
transitive
EDF-S-DGY

4.

5.

(3-A)
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IfA=(xeZ:x"—1=0}and

B={xe Z:x*+x+1=0}, where Z is set of
complex numbers, then what is A N B equal
to ?

{a) Null zet

14481 -1-431|
2 ¢ & |

(b {._
[-1+481 -1-438i
@ & " @

) ‘[111-'Ei’ fi_-\-ﬁi]f
2 2

Consider the following statements for the two
non-empty sets A and B :

1. (ANBUANMNBIUANB =AUB

9. (AU(ANB))=AUB

Which of the above statements isfare correct ?
(a) 1 only

(h)  2only

{ic) Bothland2

(d) Neither 1 nor 2

Tet X be a non-empty set and let i-'L,- B, C
be subsets of X, Consider the following
statements :

1. AcC=ANBcCNB),
(AUBIc(CUB)

2. (ANBlcnBiforallsets B AcC
3. (AUB)c(CUB)forallsets B=AcC
Which of the above stal;amanta are correct 7
fa) 1and 2 only

(h)  2and 3 only

(e} 1and3 only

fdy 1, 2and 3



3 2 0
7. @ B=|2 4 0|8, d B® HeEsd AR
1 1 0
fergeh sor B 0
[0 0
{a) 1] 0 o
-2 -1 &8
e o6 -2
M [0 0 =1
0 0 8
w0 2
e |0 0 1
0 0 0

(d) so Aeae TE 2

B. T [P -x-6|=x+2 HU@ANE? |

(a)
(h)
(c}
{d)

9. iy A:E ﬂ B, O IR AR

A=A T=E
HAadTHT AR
T ST
(d) eFfEm amegs

x -3 1
e |y 1
lo 2

L2014
0,24
0,1,4
= !

(a)
ib)
(e}

10.
=
A FH: T8 7
il

3,4

9, —4

B il

(a)
(b}
(c)
(d)

EDF-3-DGY

i |=6+11 & @ x 3 v

11.

12,

13.

14.

15.

(4-A)

IV' CAREERINDIA

Mo 4 22% + 92 + 1 = 0 3K
P2 120 S ad e #

ta) =1,
B 1,0
(€@ ~1,0°
)

I €120, n +2) = €20, n - 2) 2, a1 n fFE
I 2 ?

a) 8

by 10
e 12
d)y 16

o wAae W 10 fag # | 5 fagadt § @ i ot

o fog v wa e | 76§ | 39 T e
*l T wen feedt @ S 5 faegedi @1 S
HATS o Hehdl B 7

(a) 90

(b) 45

{e] 40

d) 30

aﬁ[b,mpxz+qx+r=ﬂ(5ﬁﬁp.q,r
aft weaw ) & fam anmfos @ £

frfafen o & smw s wd 2 7
fa) a=0 h=0
(b)) a<0, b=<0
) a=0 b<0
d) a<0, b=0

T A ={h, (1, w) B, @ AF EE aYEE (9T
&) 3

(a) g, (o], (A, (2, pd)

(b) e, (i, LT3, ph), (202, pll)
e o, fah B, pl, 1A, 1A 1l
() HAL (3, wh da 1A, pill



3 2 0
M B=|2 4 0f, then what 15 adjoint of B

9.
11 af
equal to 7
] 0 U-‘
(a) 0 60 o
-2 -1 8|
[0 0o -2]
{h) O 0o =1
o 0 8 J
g 0 2
(e} 0 0 1
o 0 0
{(d) It does not exist
8. What are the roots of the -eguation
|x°-x-6| =x+27 -
ta)] -2,1,4
(hy 0,2, 4
wp 0,14
dy -2,24
0 o1
9. If A= 1 sl then the mairiz A is a/an
ta) Bingular matriz
{h}  TInvolutory matrix
{e)  Nilpotent matrix
(d) Idempotent matrix
x -3 1
10, If|y 1 i |=6+11, then what are the
0 2 =1
values of x and ¥ respectively ?
(a) -3,4
by 3,4
(e} §,—4
idf -3,-4
EDF-S-DGV
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12.

13.

14.

(5-A)
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The roots of the equations
70+ 2% + 2+ 1=0and zmw+_z2“m+1={]

are

COTNITOE

{fa) -Lw
B 1, >
e -1,
(d oo

If Ci20, n + 2) = C(20, n — 2}, then what is n

equal to ?
{a) &
(B) 10
ey 12
(dy 16

There are 10 points in a plane, No three of
these points are in a straight line. What is the
total number of straight lines which can be
formed by joining the points ?

fa) 90
(b) 45
(e} 40
id) 30

The equation pxz +qx +1=0(where p, g, r, all
are positive) has distinct real roots a and h.
Which one of the following is correct 7

fa) a=0,b=0
by a<0, b<0
ey a>0, b0
idy a<0, b=0

I A = 1, (A, il then the power set of A s

(a) i, doh {41, 14, pil

(h) Ad, (AL HA, bl 1AL, wih
(@) {0, (&) &, ud, (2 Lk, il
(d) (AL, (A, (2 4R, il



HTT HTF T 02 (#)m*ﬁ?ﬁﬁﬁ?ﬁ?ﬂ?m,
feremre #ifor :

fopedt o o, ft o= d9 s W @ (3ER
) — i, For sl dae e § § Ay v
we B ¥ | 60 U W W 8, 50 T 2w
werd #, 48 HW Wer ¥, 12 v s For gHi
werd #, 15 %W s raw fm Ae @em §,

20 ue ¢ ot v ST deR

16. ﬁmﬁ'ﬂﬁaﬁ’iaﬁrwmwa‘tmzo.

20

fa) 123
thy 111
e} 95
(d) 63

17. Frmem d omEi £t ufiean gen fead #@

el # 7
(a) 111
(b) 123
(e) 125
(d) 136

18. 3 A # 3 1 wF TEE Wy R, A

T i (A7
(a) Y[ AEYE % wO R

(h) AW T B
{¢) SA % wT=T B
(@) 1 fiaed T 2
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(6-A)

21.

22,
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A, #ife 8 & W v w1 v T e § fw
T gnfUeR W WE 4 B | 3w ufEd #
aTefirr 1 0 F R 0

(a) 64
{b} 36
(e} 82
d) 4

6 Wl o 4 TRl 0 W, vs wElem
5 =l 1 weff @ wEa 8 | 7R fEe gen
# form w1 werar @ wifes a-8Fw uw egfie
& uefi sravg 7 o

{a) 209
(h) 210
{e) 246
(d) 242

[(2x — 3y)° 2x + 8y)%)° & fowm & w2 4
HE o E

{a) 4

b) &

© 8

(d) 16

(1+ax)" % foean #, qeat 9 92 9 1, 12x
3 64x” % | n foreeh wm # 2

(a} 6

(h) 9

e} 10

(dy 12



Consider the following for the next 02 (ltwo)
items that follow :

In a school, all the siudents play at least one of

three indoor games — chess, carrom and table

tenmnis. 60 play chess, 50 play table tennis, 48 play

carrom, 12 play chess and carrom, 15 play carrom

and table tennis, 20 play table tennis and chess.

16, What can be the minimum number of students
in the school 7
(ay 123
(by 111
(e} 95
(d) 63
17. What can be the maximum number of
gtudents in the school ?
(a) 111
by 123
(e} 126
dy 135
18. If A is an identity matrix of order 3, then its
inverse (A7)
fa) isequal to null matrix
(b)  iseqgualto A
{e) isequal to 3A
(d) does not exist
EDF-3-DGV

19.

21.

22.

(7T=A)
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A is a square matrix of order 3 such that its
determinant iz 4. What is the determinant of
its transpose ?

(a) 64
(b) 36
(c) 32
dy 4

Trom & programmers and 4 typists, an office
wania to recruit 5 people. What is the number
of ways this can be done so as to reeruit at
least one typist ?

(a) 209
(b} 210
e} 246
(dy 242

What is the number of terms in the expansion
of [(2x — 3y)% (2x + 3y)*1° ?

al 4
(b &
(c) 8
(dy 16

In the expansion of (1 + ax " the first three
terms are respectively 1, 12x and 64x>. What

is n equal to ?

(a) 6
thy 9
{c} 10
(d) 12



23.

24.

25.

W 1, 5 3 25 @ 9g (U ®Y HOEET
FTEvE TRl) & T 3

(a) 9 UH AP

(b) T B ftes w ftfis de § AP ®
() 9l gEn g APs &

(@) i sEn ¥ GPs %

TRt AP 36 (p+ g 31 (p — qF 2T &1 TTH

. TR R

(a) (2pyd g &
(h) (2 98 &
{¢) pd S HFHH
(d) of 92 % gH F

3G A, FIE n > 1 H TH T AR E, A

frafafea § 4 S99 v TE 2 7
{a) det(—A)=detA
(b deti-A)=(—1"detA

(e deti—Al=-detA

(d)y deti—A)=ndetA
26. 256 cosee® x + 36 sec® x P FAGH TH T
| B
(a) 1
(b} 11
(© 120
@ 121
EDF-S-DGV
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AT AT AT 02 (1) v & o el @
feram #ifso -

27.

28.

AF i A 3R B, (3 x 3) SR B W@
det A=4 3 detB=32 |

det (2AB) foreaesh sTec & 7

fa) 98
by 72
_ {c) 48
d) 36

det (3AB™) fihmh waraT 2 9

fa) 12
by 18
fcy 36
(d) 48 ,
AT S F 02 () 7Y & fore Rafefem w
fa=me &ifam -
. UF Oy TEm s OweR & O £ OfE
_ 12
D

29.

30.

(8-A)

z =T HIHT 1 & 7

(a)

h) 2

(e} 1
;

{(IJ E

z ] G HIE T8 ?

fa) 0
i
() —
4
n
{e) —
2
idi =



28, The numbers 1, 5 and 25 can be three terms
{not necessarily congecutive) of
{a) - only one AP
(b))  more than one but finite numbers of APs
(e}  infinite number of APs
(dy finite number of GPs
24. The sum of (p + qlth and (p - @™ terms of an
AP is equal to
(2) (2p)™ term
b {2q]th term
{e) Twice the p'” term
(d) Twice the qth term
25. If A is a square matrix of order n > 1, then
which one of the following is correct ?
(a) det(-Al=det A
(b) det(—A)=(-1)"detA
(e} def(—Al=-detA
(d) det{—-A)=ndelA
268, What is the least value of
95 cosec? x + 36 sec® x 7
fal 1
by 11
{c] 120
d) 121
EDF-3-DGV {9=
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Consider the following for the next 02 (two)
items :

27,

28.

Let A and B be (3 x 3) matrices with det A =4
and det B = 3.

What iz det (2AB) equal to ?

{a) 96
hy 72
(e 48
(d) 36

What is det (3AB™!) equal to 7

(a) 12
(h) 18
(e} 36
(dy 48

Consider the following for the next 02 (two)
ilemns :

28,

30.

A)

A complex number is given by z = ﬁ )
What is the modulus of 2 7

(a) 4

(hy 2

@ 1

(d) %

What is the principal argument of z ?

fa) 0
b1s
{b) Z
T
(c) E
dl =



32.

HTt T e 03 () gyt & ferg Aot w
ferare #iform -

33.

34, A FIHE FR?

EDF-S-DGV

sin 34° cos 236° —sin 567 sin 124°

=T HHE 11
coa 28° cos BB® 4 cos 178 sin 208°

£

(a) -2
thy -1
ey 2
d) 1

tan 54° F Frm R sifiemes Bear s wwan
g7

gin 9° | cos 9°
(a) ————
sin 9% — cog 9°
gin 9° — cog B¢

(b
) sin 9° « s 9°
(© cos 9% 4 sin 9°
cos 8° —sin 9°
in 36°
fd S1n
) pos 362

'ﬂﬁp=Xcoa[}—YninH,-:;:KsinEwchsﬂ
A p? + 4pg + o° = AX® + BY? &, W@l
0so= = R

E%

0 T T TR 2

L)

SR

(b)

c)

(d}

mla &3 wia

{a}) 4
{ht 3
ey 2

35.
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B 1 9T R 7

fa) =1
by 0
fe). 1
(dy 2

7t s aTet 02 (71) Tl & ferg Rt w
faremre &ifar ;

36.

37.

38.

(dy 1

(10-A)

Tg fomm T R 16 cos (0 - ) = a, cos (0 - P =b
LA

cns(awﬁ}mwg?
(@) ab+ y1-a? |1-b?

(b) ab-y1-a? y1-b?

ay1-b% —by1-a?

teh

@ ay1-b% +by1-a?

sin® (on— [3) + 2ab cos (o — p) Brad Toar & ¢

(@) a*+b?
() a’-1’
¢} b%-a’
(d) ~(a®+b?

AR sin & + cos a = P 2, @l cos? (20) FormeR
T R 7

() p°

b pf-1

(e) ;F{z —ph
(d) pz +1



31.

32.

What is the value of
sin 84° cos 236° — sin 567 sin 124°
cos 287 cos 8B° + cos 178 5in 208°

fa) -2
thy =1
ey 2
dy 1

tan 54° can be expressed as

ain 9° + cos 9°

(a) gin 9% — eos 9°
sin 9% — oz 9°
b i b el el
(b) 2in-9° + cog 9°
@ cos 97 + in 8¢
cos 9° —3in 9°

sin 36°

(d —_—

) cos 36°

Consider the following for the next 03 (three)
ifems :

Hp=Xcos0—YsinB,qg=Xsnb+Y cos 6
and p° +4pq + q° = AX? + BY?, ﬂ‘_fﬂ‘_:_%.

33. What is the value of 6 7
o
(al —
2
iT
(h1 —
3
i
Leh —
4
Y T
i 2
(d) P
34. What is the value of A ?
{a) 4
(h) 3
vy 2
dr 1
EDF-5-DGV
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Whalt is the value of B ?

fa) -1
(bt 0
eb 1
dy 2

Consider the following for the next 02 (two)
items ;

36.

37.

38.

(11-A)

Ttisgiventhat cos (B—o) =a, cos (B —[i=h.

What iz cos (¢ — ) equal to 7

e
(al- ab+ \A{i—a‘;" yi-—h*

(b) ab- 1-a’ a,l.Jl—l:-2

(©) ayl-b% —by1—a®

(d) ayl-b? +by1—a?

What is sin® (e — B) + 2ab cos (et — B equal

to ?
{a) a2 + b2
) a’-b*

{c) b —a*
(d) —ta®+b2)

If sin & + cos &« = p, then what 1s cos> (200)

equal to 7

{a} pz

b p°-1

@ pH2-p))
(d) pz +1



39. sil:l"lE +&EC_lE I wmame g0
5 4 2

i A%
(a 2
by . E
(b} =
ey m
dr o

2
.40, e gin™t S BP cos ! 1_q = tan ™!

(h)

{c)

(d)

41. Hﬁtanﬁ:é-aﬂ‘:tantp=%%,?ﬁ(ﬂ+(p)7ﬂ

W FE 7

(a) 0

(b) g

{(e) E

(d) g
EDF-S-DGV

42,

2x
1-x2 |48,
44,
45,

{(12-A)

IV' CAREERINDIA

'ﬂﬁ cos A = ; %, Gl sin[%} Sin(%] = HIH

R 7
(a) g
(b) %
{c) %
(d) 3—72

tan V5% + cot 75° <h[ HH W%_‘?

(a) 2
(b) 4
(¢} 243
(d) 443

cos 467 cos 477 cos 48° cos 49° cos 507 ...

cos 135°
1 HH 0 E 7
(a} -1
by 0
{c) 1
(d 1% A

aﬁsmm:msae,aﬁo«:a{g‘a,?hsin.a
fFass T 2 7

V5 +1
4

il
4

V5 +1

186

J5 -1

16

{a)

(b}

(eh

(d)
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t TR 1! =15 T 3 . .
39, 'What is the value of sin = + s5ec e 7 |42, If cozs A= i then what is the wvalue of
k! A
si_n[é |si11[-1&J ?
ta) = 2/ 2
=
(a) %
b =
2 5
ih) ﬁ
) n
b
T
d o © o1
T
d =
(d) =

11-g® _ 1 2x |48, Whatis the value of tan 75° + cot 75° ?

40, T 5 — to8

1+p lil:l2 l—xz, (a) 2
then what is x equal to ? by 4
(@) p+q © 243
t+pq (d) 443
by . ) /
1+pq ‘ 44, What 1is the walue of
cos 46° cos 47 cos 48° cos 497 cos H0® ..
(© pq . ' ens 135 7
E -~
14pg. (a) -1
S by 0
{d) —
1-pg el 1

(d) Greaterthanl

45. If sin20=cos38, where O<B< g then

41. Iftan 0= ?i‘ and tan ¢ = %: then what is the whatis sin# equalic?
value of (6 4 ) 7 k-
(a)
tal 0O 4
J5 -1
T
= g S2Ts
453 3 =
@ = o VB +1
4 18
% =
dy = () J5 -1
: 16

EDF-5-DGY (13-A)



486.

47,

48,

43,

50.

EDF-S-DGV

=g AT x2+px+q=l}&i Hel tan 19° 3R
tan 26° 8, @1 Fafafes 4 & ®F-w v w9
87
{a)
(h)
(e}
(d)

n W gt s AP e g oW amea
nln + 1) 8, =1 =97 92 #4972 7

- . -~ B - K =
a8 a8 T
now o

- 1
- 1
+ 2
+ 3

n

(a) B
{(hy 8
{e] 12
(dl 20

(1 + tan c tan B)° + (tan o — tan B)* —

sec” o soc” ¥

forme U # 7
(a) 0
by 1
ey 2
dy 4

aﬁp:coscc B—cot B 3T q = (cosec 6 + cot gyt
o t=fafan i g snm s adt 2 2

fa) pg=1

(b) p=gq

el p+g=1

idy p+g=0

7f2 v s ABCH ®I01 1:2: 3% FUA H
£, 9 5 g foRe eraam § E 0

fa} 1:2:3

thy 3:2:1

(€ 1:43:2

(d) 1:43:42

(14 -A)

IV' CAREERINDIA

Tr=fafiaa e o faem &ifao .

1. v wE fome odew, Aide e,
xeosA+yeinf=p ‘E’, q'{ﬁﬁ% (oe, [}
¥ "R m ww H weEE

lccosB+Psinb+p| B |

2. &% (o, P& @ §|%=1q{@lﬁﬂ'ﬂ,

e AR %{%ﬂah 21
I el & WA wE e e
(a) a9 1
(b) e 2
(¢) 132 g

(@ A 1,782

52. UH G0 x° + y° = a° i U a1 FI SH AHH

Eﬁiﬂﬂ@@w%lﬂﬁﬁﬁm,i@x+y=am
feira & | 9 o wefiotor @ 2 2

(a) 32+y3—3x—ay+32={}
(b} x2+y2—a_wu—a},r=0
{e) x2+yg+ax+ay=ﬂ

{d} xz+3r2+ax+ay—2a2={]



46, If the roots of the equation x? + px+q=0are
tan 19° and tan 26°, then which one of the
following is correct ?

{a} gq-p=1
(b} p-g=1
(e} p+g=2
(dy p+qg=3

47. What is the fourth term of an AP of n terms
whosge sum is nin + 1) ?
{a) 6
(b)

(e) 12
id) 20

48, Whatis

(1 + tan « tan [5}2 + (tan ¢ — tan [5}2 -
sec? o sec? [

equal to 7

(a) 0O

by 1

e} 2

(d 4

49, If p =cosec 8- cot 8 and q = (cosec 8 + cot oyl
then which one of the following is correct ?
(a) pg=1
(h) p=gq
(¢} p+g=1
(d) p+g=0

60. If the angles of a triangle ABC are in the ratio
1:2: 38, then the corresponding sides are in
the ratio
fa) 1:2:8
by 8:2:1
(@ 1:43:2
(d) 1:43:42

EDF-S-DGV

51,

62.

(15-A)

&AIIEEIIINDIA

Consider the following statements :

i For an equation of a line,
xcos 0 + ¥y gin 0 = p, in normal form, the
length of the perpendicular from the
point (o, 1) to the line is
|tecos O+ [fsin0 + p|.

2. The length of the perpendicular from

the point (¢, [§) to the line = +-E =1 is
a

ac + bff — ab

,Jai + 12

Which of the above statements is/are correct ?
(a)  1only

{b) 2 only

(e} Bothland?2

(d) Neither 1 nor 2

A circle is drawn on the chord of a circle

X+ yz = a° as diameter. The chord lies on the

line x + y = a. What is the equation of the
cirele 7

(a) x° +y2-ax-ny+ a=0

(b) xE+y3-ax-ay=ﬂ

(e x2+y2+ax+uy=ﬂ

(d) xﬂ+yz+ax+ay-232m{]



53. UF defgm m Rt faeg f mita gt

bd.

55.

EDF-5-DGV

ANTHE 3T & I AE T 8
oY a4 i T %
e a1y i wrams %
Aifireis i T %

Al o adeg sl Sgdl %
ANTEE

(a)
(h)
c)

(d}

gt 2x% —3y? -6 =0 i = 8
(a) THI
{(b) T W

(o) @Eﬁﬁqﬁ
(d) T FfoTEeE

Eﬁf‘q'{ﬂ'ﬁa’}'zziiaxaﬂ'( x2=4ﬂyﬂﬁﬁﬁ%
(a) M@ y=x 9 Tya g fogeqi m
(b) e Hei-forg W

() fT gl mFd A vF y+x=0W
foora 2

(d) e (4a, 4a) T

farg (1, 8) o (5, 1), UF 21 % S @ i
2 lmﬁ_ﬂﬁ&i@yeﬂx+cmﬁﬁﬁ% | &R
W 82

{a) 2
(hy =2
() 4

idy -4

a%.

8.

59.

60.

(16-A)

IV‘ CAREERINDIA

Ife @ 3y+4x=1,y=x+53ﬂT5y+bx=3
et &, At b W HE =R 7

{a) 1
by 3
e 6
1
dl =
: 2

I o W H i = R W y=x W A

2 3 (3, 2) ¥ Et Tt 8 7
fa) x-w=8
(b) x+y=5
el

{d)

WA @ x+y-4=03x+y-4=03N

x+3§’—4=ﬂwﬁﬂam§;%ﬁﬂa

i 2
THEFRT 2

(a)
(h}
(c) HweTE #
(d) ferwmang &

FAX" +y° + dx— Ty + 12 = 0 G y-31& T I
T T A W TR s # 0

{a) 1

by 3

ey 4

(d}

|



53. The sum of the focal distances of a point on an
ellipse is constant and equal to the
(a)  length of minor axis
(k) length of major axis
(e} length of latus rectum
(d) sum of the lengths of semi-major and

gsemi-minor axes

54, The equation ax? - 3y2 - 6 = 0 represents
(a) acircle
(b} & parabola
() anellipse
(d) & hyperbola

55. The two parabolas yﬂ = 4ax and x* = 4ay
intersect
(a) al two points on the line y = x
(b}  only at the origin
(¢c) at three points one of which lies on

y+x=10
{d)  only at (4a, 4a)

56. The points (1, 3) and (5, 1) are two opposite
vertices of a rectangle. The other two vertices
lie on the line y = 2x + ¢, What is the value of
c?

(a) 2
(b) -2
el 4
dy -4
EDF-5-DGV

a7T.

58.

59.

80,

OAT R

&AIIEEIIINDIA

If the lines 3y + dx = 1, vy = x + § and
v + bx = 3 are concurrent, then what is the
value of b ?

(a) 1
ikl 3
ey 6
1

(d =
} &

What is the equation of the straight line which
is perpendicular to y = x and passes through
(3,2)?

(a) x-y=5
(b) x+y=5
e} =x+wv=1
d) x-y=1

The straight linesx + vy -4=0, 35 +v -4 =10

and x4 3y ~4 =0 form a triangle, which is
(a) isosceles
(h) right-angled
(¢) equilateral

(d)

sealens

The circle x° + },2 + dx = Ty + 12 = 0, cuts an
intercept on y-axis cqual to

(a) 1
(b) 8
le} 4
(dy 7



61. A2, -3, 3), B(5, -3, — 4) 3T C(2, -3, -2) 9l
atel Tk s 1 S e fag R
() (88 =1
(by (3,-3,-1)
(e} (3,1,-3
W E8=1-8)
62. T x4y + 22 —Bx+ By —102+1=0
forsm R 2 7
‘fa) &
(b 2
ey T
id) 3
63, TUTTI2x +y +22=90 3N dx—by—-4z=1%
wltresie it famg (3, 2, 1) @ oA o AHAA
T W T R 2
(a)  10x—2y+22=28
(b)  10x+ 2y + 2x2=28
(el 10x + 2y — 22 = 28
id) 10x-2y-2z=24
64. UAFH THAS! 4x — 2y + 4z + 9 = 0 3N
Sx~4y+82+21=ﬂaiﬁ‘aﬁqﬁﬁ'f%?
1
} e
(a i
1
I o
ih) 3
3
(e -
¢) 2
7
)y
! I
EDF-S-DGV

65.

67.

68.

(18-A)

&AIIEEIIINDIA

3-8 % e ahiamsT #47 & 2

a) =1,1,1=>

by =1,0,0>

ey <0,1,0>

d) <0,0,1>

ﬂﬁ?:?— A'+5k3$|‘{h —,31+_]=.d];
B, (b —a).80 + b)fwEs s i
(al 106

(b) —106

(e} 53

(d) -53

afe fagat A o p % fEufa aftw
3q~2}+ﬁ3ﬂ'{_2?+4‘3—3£§,ﬂ:‘[ A_ﬁ
o T R Y

fa) 14
(b) /29
(e} /43
) 53

aﬁwmﬁw ABCH, %9 AC = p &, Al

AR . AC + BC . BA + CA . CB frep
FUET R 9
{a) 1:2
(b 2p°
2
P
3 L. b
(e s
dy p



61. The centroid of the triangle with vertices
A2, -3, 3), Bi5, -3, —4) and C(2, -3, -2} is the
point
fa)  -3,3,-1)
by (3,-3,-1)

(e} (3,1,-3)
idy (=3,-1,-3}

62, What is the radius of the sphere
x2+y2+zz—ﬁx+8}'—1ﬂz+1=0?
@) &

() 2
ey 7
d) 3

63. The equation of the plane passing through
the intersection of the planes 2x + v + 22 = 9,
4x — By — dz = 1 and the point (3, 2, 1) is
(a) 10x-2yv+2z=28
(b) 10x+2v+2z=28

- {e) 10x+2y—2z2=128
{d) 10x-2y—2z=24

64. The distance between the parallel planes
dx -2y + 42+ 9=0and Bx -4y + 8z + 21 =0
is

1

) ey
(a 1
1

b =
2

3

t " -
¢ 5
Fi

(d) =
4

EOF-5-DGY

IV' CAREERINDIA

65. What are the direction cosines of z-axis ?

67.

(19-A)

a) <31,L,1>
b} <1,0,0=

e) =<=0,1L0>

(df <0,0,1>
—¥ A A A -3 A A A
Ifta =1i-2j+58kand b =2i + j -3k
- - =
then whatis({b — a ).(3a + b legqualtlo?
ta) 106
thy —108
te) H3
(ddy —-5b3

If the position wvectors of points A and B are

3? —2? + I:, and 2? + 43’ -3]: respectively,
—5

then what is the length of AB ?

a) 14
) 29
e} 43
@ 53

If in a right-angled triangle ABC, hypotenuse
AC = p, then what is

— — — — =
AB . AC + BC . BA + CA . CB equalto?

(1] pj
iby 2 p2
)
R
el 5
d) p



69, wfEwi a-21-6j-3k 3 b =4i+3j-k
%ﬁa%aﬁmmw (sine) B
faf s
26
b)
6
(¢l i
26
1
d) 26
70. » w1 98 A T g Ty fow afw
31 + 45 - k s afm 2] + 4§ + 10k
e & 7
T |
b 2
{ed 3
(d) 4
71. x % @S sec” (tan ! x) 1 SgoUH 1 E 7
(a) 2x
() x2+1
(e} =x=+1
(d) x°
EDF-S-DGV

72.

73.

74.

75.

(20-A)

IV‘ CAREERINDIA

% fix) = logp (1 + x) |
4fi4) + 5R1) - logy, 2 ToREeh TR B 7

fa) 0
by 1
- (e 2
(d) 4

fix) =In (x® +1 - x) g ofafes o wed o,
B

(a} TS HY oW

(b) U forwm wer

(¢) W R Fovy e gHl
(d) = F9 T A A wen

flx) = log, 10 gAT GRufSes e £ S @

ta)  x>10
(h)  x =107 BIEHL, x> 0
e} =x=10
(d)  x=17% BIEH, x>0

_ ]
lim 2=908" 4% P w2

%00 %2
tal 0
thy 12
el 24
(d) 36



69. The sine of the angle between vectors
—5 M A # ol A A A
a =2i—-6j-8kand b =41 +3) -k
is
1
{a) -
J26
5
by ——
V26
o
ich T
1
{d) —
26
70. What is the value of 4 for which the vectors
A A A A Al A
3i +4j — k and 27 + Aj + 10k are
perpendicular ?
(al 1
{hy 2
cd 3
(dy 4
71. What is the derivative of sec” (tan ' x) with
respect to x 7
(a) 2x
by x°+1
] x+1 .
(X
EDF-5-DGY

2.

73.

74.

T5.

(21—A)

&}AHEEIIINI]IA

If fix)=1log(l +x), then what is
4114} + 501) — logy 2 equal to ?

tal 0
by 1
e} 2
idy 4

A function f defined by fix) = In (~,,'x2 +1 - x)
1

(a) an even function

ib)  an odd function
ic)  Both even and odd function
(d) Neither even nor odd function

The domain of the function  defined by
fix} = log, 10 is

(@) x=10

(h) x> 0excluding x = 10
(3 =x=10

(d) x>0 excluding x = 1
lim ﬁ is equal to
230 3%

(a) 0

() 12

ey 24

idy 38



76.

r>0 & fou, fen r & v 9w F ofme o
EARA G I fir) B | 9@ 71) + 12) Fruk
TE R 7

a) 1
by 2
el 3
dy 4
77. A& fix) = 3" B, T fix) fiy) fz) Toras w0
7
fa) flx+y+z
tht fix+v+z+1)
(e} fix+y+z+2)
id) fix+y+z+3)
78. WHELT x° + 9|x| + 20 = 0 % T anafaw
el i HEa g
(a) 99
(hy TH
(€ @
(dy M
79. A fix) = sin (cos x) B, T £(x) Toraeh T 2 2
{a) cos{cosx)
(b} sin{—sinx)
(e} (sin x} cos {cos x)
{d} (- sin x) cos (cos x)
80. FEH fix)= J(2-x)(x—3) S8
fa)l (0, )
ib) [0, o)
(el [2,3]
id) (2,3
EDF-S-DGV

B1.

82,

83.

(22-A)

IV‘ CAREERINDIA

Haehe] Tl % =cos(y—x)+1 T EAE

(a) e"[sec(y—x)-tan(y-x)] =¢

(b)  e"[sec(y—x)+tan (y—x)] =¢

() e'secly—x) tan(y—x)=¢

(d) e*=esecly—x) tan(y—x)

Kl

j |sinx —cos x| dx forereh e 2 9
0

(a) 0O

b 2(J2 -1

@ 242

() 2(42 +1)

afe y = a ¢os 2x + b sin 2x %,?ﬂ

(a) £¥~+}'=U
(b) l;:f;i +2y=0
(c) %—4}?:{]
(d} g;i‘z-rd-}r:ﬂ

urg <l vk & M5 W vk e S (sl
UF AHAEHTE 4R HR Aedgaen g aren)
Hger 2 | At $e gy dawE # g
W@l W, a1 7Y seH H SAE AU
il & =amm & sram T g 2

{a} m:in+2)

by (n+2):m

fe} 1:1

(d) I H A 1 A



76, Forr =0, fir) is the ratio of perimeter to area
of a circle of radius r. Then f{1} + fi2) is equal
Lo
ta) 1
by 2
ey 3
dy 4
77. If fix) = 3™, then fix) fiy) flz) is equal to
(a) flx+y+z)
(b flx+y+z+1)
(e} fix+y+z+2)
(dl flx+y+2z+3) .
78. The number of real roots for the eguation
x2+9|x§ +20=01is
(a) Zero
th} One
() Two
{d) Three
79. If flx) = sin (cos x), then ['(x) is equal to
(a)  cos(cos x)
(b} =min{—sinx)
(¢)  {3in %) cog (cos x)
id) {—sin x} cos (cos x)
80, The domain of the function
fizr= 2 - (x—38) is
(a} (D, =)
by 10, =)
el 2, 3]“‘
)y (2,3
EDF-S-DGV

81.

82,

83,

84.

(23-A)

&}AHEEIIINI]IA

The solution of the differential equation
:—i- =cos(y—x)+1is

(a) eYfsecl{y—-x)—taniy—-xil=¢
(h) eflseciy—xl+tan(y—xll=¢
() ¢ seciy—x) tan(y—x)=c¢
(d) e%=¢see(y—x) tan{y —x)

2

J |sin % —cos x| dx is equal to
0

fal 0O

(b)  2(¥2 -1

(6) 242

@ 2(42 +1)

T v = a cos 2x + b sin 2x, then

(a) %+y=ﬂ
(b 3;’:‘1 +2y =0
el %—4}':[}
(d) %My:ﬂ

A piven gquantity of metal iz to be cast into a
half cylinder (i.e. with a rectangular base and
semicireular ends). If the total surface area is
to be minimum, then the ratio of the height of
the half cylinder to the diameter of the
semicireular ends is

{fa) m:im+2)

by (m+2:m

(el 1:1

id) None of the above



5
85. o R cosxdx Tk s % 7
0
al e+1
by e-1
{c) e+2
d) e
86. IR r0-2"2 x»-22 7w FEEE
%+ 2
U 8 7
{a) Lt i
x—-2
+2
-
‘ dix - 2)
(e) ¥+2
-2
() 201+ x)
1-x
87. I In(x®) dx Toras seg & 2
fa)  2xinlx)—-2x+c¢
ih) £ e
X
(e} Z2xinlx)+c
() 2 E{i}-}i -+
X
EDF-S-DGV

88.

89,

(24-A)

IV‘ CAREERINDIA

forg (4, 208 y* = 8x Y 7eqan gft formsh e
87

(a) 2
(b) 242
fe) 2

@ 342

y-HE B Ae-fag W e w A g
T AT FHET B

(a) x2+_\,f -.Exyd} =0
dx
(b} xz+}?2+2xyd—y=ﬂ
dx
(e xg—}'zd-?.xyi:-'r =0
dx
d
@ x-y*-2xyY =0
dx

aaawmﬁwjjj 2L35’J+9y=xa:
Hed § freferfiaa o faem fifag

1. Siahel ot =i am (fefl) 1 2 |

2, HEwme wftEr 1 Fife () 2 B
I FeEl H # FEH HE R E

(a) & 1
*ae 2

1 3% 2 gl
Fat 1, Td 2

(131

(&)

(d)



T
85, e F os x dx s equal to
]
() e+1
by e-1
e} e+2
d) e
86. If flx)=2 ‘; , % # —2, then what is £ lx)
equal to ?
4ix + 2}
(a) e
x4 2
) d{x —2)
X+ 2
(c} < h
) 21 +x)
1-x
87. Whatis j In(x%) dx equalto?
(al Zzinx)-2x+c
{h) —+c
X
¢ 2xlnix)+ce
@ 2P0 geic
x
EDF-5-DGV

89.

{25-A)

&}AHEEIIINI]IA

The minimum distance from the point (4, 2} to
v* = 8x is equal to

{ay 2
(b) 242
el 2

(d) 342

The differential equation of the system of
circles touching the y-axis at the origin is

ta) x2+_vz—2xyﬂ=0
dx
b xeyeay g
dx
ieh xz—y2+2xyd—y={l
dx
(d) xz—yE—Z}cyd!’r:D
dx

Consider the following in respect of the
differential equation :

Beal
J + 9y =x

2 ’
dx? dx

1. The degree of the differential equation
is 1.

2 The order of the differential” equation
is 2.

Which of the above statements is/are correct 7

(a) 1lonly

(b}

(e}

(d}

2 only
Both 1 and 2

Neither 1 nor 2



91, srawa aiwm W X o & =mow 2w w0 | 95.
¥

(e} %2+ }'2 = Xy
dr x+y=¢
sin x

92, k % 98 U F41 & A fix)=

x = 09T Held FAET 2 ?

fa) 2
by 1
) =1
d) 0

93. a’x + bPy FT g0 UF, Tl xy =28, FNR?

(a) abc

{b) Zahe
(c)  3abe
id) 4abe

94, I A gy ForEes WE R 2

x

(a) m +c
(hi ;;ﬂ +
(el 4’..:_1?:(:] + ¢
= .{Z?.u *
EDF-S-DGW

96.

o7.

(26-A)

IV‘ CAREERINDIA

qH y = ¢ sin x AT x4 % o= FHE wh ar

(9[9) =T &P 4 8
(a) ¢

(b} 2

fc) de

i} 4c

Ilﬁ gin 0 + cos 8 =2 cos 0 %, al
{cosﬂ—sinﬁ}ﬁﬂﬁ%m%?

(a) —+2cosB
(b)Y —+2sing
e} J2sino
(d} 2sino0

v g Foeest =4 44 em #, I9H O S A
e 22 em B | Sfter &t @1g =9 i wward Fn
27

484

{a) 21 cIm
(b) % cm
ie) -1—5% cm
(d) % cm

; 1 _i
Elﬁsmﬂ=—53ﬁ'£tanﬂ— ‘I@%,T‘hﬁﬁ?ﬂ
AUy § A # 7

{a) HIH

(b) foefa
(c) T
(d) =gd



81. What is the general solution of the differential
cguation :.1_:,'+ =07
dx ¥
(a) %+ 3'2 =
) x-yi=c
(¢} x°+y =cxy
id) m+y=c
92, The value of k which makes
sinx x=0 2
fix)= continuous at x =0, is
k x=10
{a) 2
by 1
fe) =1
iy 0O
93, What is the minimum value of a’x + bﬁy
where xy = 22
tal abc
{h)  Z2abc
() 3dabe
{d) dabe
94. What is j A gy aqual to ?
x
(@) +c
Infa)
X
e
ib) —_—
fnia)
X
vy —
Inlae)
anX
(d) B
: Inia)
EDF-5-DGV

95.

96.

7.

98,

(27— A)

&}AHEEIIINI]IA

What is the area of one of the loops between
the curve v = ¢ sin x and x-axis ?

{a) ¢

bl Zc
&) 3c
d} de

If gsinB+eoal= \."Ecosﬂ,
(cos 8 — sin 0) equal to ?

then what 1is

(a) —/2ecos0
(b) - 2sin0
(c) V2 sin
id) 2sindg

In a circle of diameter 44 em, the length of a
chord is 22 cm. What is the length of minor arc
of the chord ?

484

{a) 51

cIm
242

{b)
' 21

cml
(c) E CiTt
21

44
— I

d
(d) 7

1 ; .
Ifsinb=-— % and tan & = —, then in which
2 43

quadrant does 6 lie ?

ta) First
(hi  Second
{c}y  Third
id) Fourth



9.

100.

HE 1,2, 3, 4 31 5% 7@ wEh A9 s
foraft T T Faeft s wedt B, el ot
i g i sl 787 & 2

(a) 36

(b) 30

(e) 24

d) 12

h Fard #i vk HEAR F uw feg A @, A
i & i gfeor & 2, 3999 #im « 2 AR T
fog B, St i A% #19 qd 9 8, 3997 &1
2 | aft AB =z 2, 71 Fr=fafas 4 @ w9 w
wit & 7

S

(@)  h?(cot? ¥- cot’ x) =z

(b 2 (cot® V- cot? x) = h?

2

leh hzlii.anz_\f—Lsm2 X)=1%

(d) 72 H;:m2 ¥- tan” x)= 112

101, @ i s 7 @ ey afgg ™ e

102,

EDF-5-DGY

ST # | Jiggd 99 % U g9l B o wiRieRar
TR ?

la)

{hd

ic)

iy | o | o
| t»::l"" Hl":‘ --4|'_'

(d)

Lol

afe A 3 B 2 wead ww wwn 2 6
P(A) = 05, P(B) = 0-6 3T PIA N B) = 04 B, &4

PiAUR) o smer 8 2

ta) 08
(thy 07
ict 5
idy 03

103.

104.

105.

(28-A)
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U 9 o it A, B 3R o = B wmen B

fomehl 9+ 7e w3 6 Wit s %

;j- 3 i £ | afz 3w w=ea w9 D WA R
7 &0 & df 55 ara 6 wrfiemar @ 2 B am
=1 &1 firet o 2

29

32

27

32

25

22

23

32

{a)
(b}
(e}
id)

froger ol % uwm g w1 EED (RN WA
2 | %% WM % =12 79 98 I8 8 Al 59 =1
Sfieher @4 2 foR gEL W % Herh T A TR
T % heteh & A F 91y F 2

{a)
ih)
ic)

(el

ot = | o] - =
ml"" e |- R = |

v Froger foreer &1 SoTen T ot @y A e
wH ol o & B o | A fae %
YUY 2 AT 4 T 4 WH F4 1 Wil F
27

{al 1
2
(bl %
(e} %
1
(d) 5



99. How many three-digit even numbers can be
formed using the digits 1, 2, 3, 4 and 5 when
repetition of digits is noet allowed 7
ta) 36
(by 30
(e) 24
dy 12

100. The angle of elevation of a tower of height h
from a point A due South of it is x and from a
point B due East of A is v, If AB = 2, then
which one of the following is correct ?

(a)  h?(cot? v - cot? x) = 27
(h)  2° (cot? ¥ - cot? x) = h?
(e) h? {l;angy—tunﬂ x}:zﬂ
(d) 2*(tan® y - tan® x) = h?

101. From a deck of cards, cards are taken out with
replacement. What is the probability that the
fourteenth card taken out is an ace ?

1
(a) EE
4
{b) —
] 61

1
(c) E
1
..
LT

102. If A and B are two events such that
P(A) = 0:5, P(B) = 06 and P(A N B) = 04, then
whatis PCA U B ) equal to ?
ta) 09
by 0OF
(e} O5
(dy 043
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104,

105,
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A problem is given to three students A, B and

C whose probabilities of solving the problem

are %, i} and % respectively, What is the
probability that the problem will be solved if
they all solve the problem independently ?

29

Lal 32 .

27

b =t
th} 32

25
32

23
32

{e)

{d)

A pair of fair dice iz rolled. What is the
probability that the second dice lands on a
higher value than does the first ?

(a) %
(b) é
© %
@ =

A fair coin is tossed and an unbiased dice is
rolled together. What is the probability of
getting a 2 or 4 or 6 along with head ?

{a) -;-
(b) %
(e)* %
@



106. af2 A, B, C #1% meard &, & 30 § Fu-dwn 9

107.

108,
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AT & W T1e Hed Y mifdeRar o1 § 7

{a) PAMNB+PEBMNCH+PCNA

b} PIAN B +PBNMNOC+ PFCMNA -

PANBNOC)

PANB +PBNOC+ PIC N A -
2ZEHANBNO)

el

fdy PA N B+ PBNC+ PC N A -

JPFANBNG

gfa 21 =1 X 37 Y W7 B, o 3k ot geey
O F4 2 Y

{a) 1
hy -1
€ 0 110.
(d) U o H HE TE
F Ay "eAld A 3t B 3@ wen &
F{AUH)zgaﬁTP{AﬂB}=%%I
ufe P(B) < P(A) B, 1 P(B) Foreeh st 8 ¢

1
{a) E

4
(b} 3

1
Led E 4

1
(d) 5

(30 -A)
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109. TF T (100) J&Oi W =WE¥ 50 B AN I

A fereme 10 2 | afe v Yewr | ® 5w
fear s 2 ot fw 3@ 4 & fawifm = T
T R, A T Wy A T wEs e e

=T & 7

{a) 45,5

(b  11-25,1-25
e} 1123, 25
(d) 12:5,2:5

afe 21 freuer wrEl 1 HeE 99T 2, 99 39 9|
+1 wufeeey wifesa w2 % 126 T® W 6
e, sl 77 faar gen 2 fF o 9 g st
1 ATHSA 8 18 ¢

fa) %
(b) %
(c) %

5
@ <



106. If A, B, C are three events, then what is the

probability that at least two of these events

oeeur together 7
(a) PAANBI+PBNC+PICNA)

PBAN B + PB N Q)+ PIC N A -
PANBNO

(h)

PANB + PBNC)+ PIC N A -
ZPANBNO

{e)

dy PIANB)+ PFBNOC + PIC N A -

dPANBNC)

107. If'two variables X and Y are independent, then
what iz the correlation coefficient between
them ?
fa) 1
by =1
e) 0O
(d) None of the above

108. Two independent events A and B are such
that P(A U B) = % and P(A N B) = &1- If
P(B) < P{A), then what is P(B) equal to ?

1
[ —
a) 1
1
by =
3
{e) l
2
1
dif =
| G
EDF-S5-DGV
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110.
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The mean of 100 observations iz 50 and the
standard deviation is 10. If 5§ is subtracted
from each observation and then it is divided
by 4, then what will be the new mean and the
new standard deviation respectively 7

(a) 45,5

(b) 11:25, 1-25
(e} 1125, 25
() 125,25

If two fair dice are rolled then what is the
conditional probability that the first dice lands
on 6 given that the sum of numbers on the
dice is 8 7

(a) -;—
b %
(e} é

5
@ ;
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111, 71 Tafim Tt ) Foen 9w 2, T o | 118, T % 52 7 H v T A & v B AgFes
3 S || T Y, @ wE A, s e WA w9 W T AT R | 9 WA ok WA =8
A Sttt imam| PIHTNEE RS (G 0

1 wilrerar Fa1 2 % 21 T wm e T e

(ad  —

3
Eﬁ.j ﬁ 3
(b) 1

2
(b} 9 5
{ch ﬁ

5
(¢} E i
(d) 17

1

(d) 3

114, TF T8 F H1E 9K et w8 i 3@ 5 @

112.ﬁﬁﬁn§ﬁiﬁ,ﬁﬁﬁ3‘§ﬁmw ﬂw.mmgm%lmﬁﬁﬁ
% # | 3R o i e w1 § T+t et # Fe e &1 Ared AR i fawern w2
aﬁtwmﬁméﬁﬁﬁﬁgﬁg

§ 16
i ( A
e e o E, @ o wE R LI
(a}) 3 8 4
(b} 593
(b) 4 -
W SLE
e} 3'3

eb 5
4 18
e T
D 5T

dy 6
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111, Two symmetric dice flipped with each dice
having two sides painted red, two painted
black, one painted yellow and the other
painted white. What iz the probability that
both land on the same colour ?

3
@ =
. 18
2
ihy =
o
5
el —
18
1
d =
{d) 2

112, There are n socks in_a drawer, of which
4 socks are red. If 2 of the socks are chosen
randomly and the probability that both
zelected socks are red is ; , then what is the
valucofn ?
ta) 3
thy 4
el 5
(dy 6

EDF-5-DGY
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113. Two cards are chosen at random from a deck

114.

(33-A)

of 52 playing cards. What is the probability
that both of them have the same value ?

{a) l
17

v =
17

]

) Fimy
@ 17
@ -
17

In eight throws of a die, 5 or 6 is considered a
success. The mean and standard deviation of
total number of successes is respectively given
by

O~
(h) % , % '
(e) %, %
Wi 2.2

4 D
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T HAT A MU B 39 v 3 fF A IR B
WER 3TEA | 4l P(A) = 0-5 I P(B) = 06
2, A1 P(A|B) 1 U #2112 2

1
1
LR
(el 3
i)
1
{d) =
Froafafan == = fEn Fife

1. oMl % UH g H 6 GHRH 9 8
fremt w1 @9 9MEA Wed I w
2

2. T Ui e % T
WW}W@W}W(@)I

It ol § 4 wave T 8 2

(a) a1

(b) &HAA 2

(¢) 132 A

(d) AWML AR 2

e fifie X ofit v % <= gEgEy s 06
2 | TefEes W Z ol W wER witnfiE 2
ﬁz=x+5aﬂtw=§%tzaﬁ'{w%ﬁﬁﬁa
HEhEY IO FT R 7

(a) 01

(b} 02

(¢) 036

d) 06

&}AHEEIIINI]IA

118, T2 1 3fit 20 % o= & @ft 7 qoiel = 3 @
o =t T S 2, < it Aol e we
T8 ?

{a) 9975
(by 199:75
(c) 299-25

id) 398-25

119, 38 =@ & vfass w1 § % Gl 99 71 0
st fag 3ot oftfa &t sman 35 &g F
Aferss T g 2

1

La) E
1

b R
(bl 5
3

y 5
(e 4

) =W Pl 8 e o o

120, 7f% A 3t B2 e B, 99 A A WS AW
HZT B % 9ied B & wilEmar | R 7

(a) PiA)+ P(B)

(b} P(AUB)
(e} PANEB)
(d) P(A) P(B)

(24-A)



115. A and B are two events such that A and B
are mutually exclusive, If P{A) = 05 and
P(B) = 06, then what is the value of P(A|B) ?
(a) E
3]
1
h) =
6
2
{e) E
: 1
td)y —
3
116. Consider the following statements |
1.  The algebraic sum of deviations of a set
of values from their arithmetic mean is
always zero,
2. Arithmetic mean > Median > Mode for a
symmetric distribution,
Which of the above statements isfare correct ?
{a) 1only
thy 2 only
(c) Both1land?2
(d} Neither 1 nor 2
117. Let the correlation coefficient between ¥ and
¥ bhe 06, Random variables 7 and W are
defined as Z =X + 5 and W = %.What is the
correlation coefficient between & and W ?
(a) 01
by 02
) 036
(d) 086
EDF-5-DGY
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118. If all the natural numbers between 1 and 20

119.

120,

(35-A)

are multiplied by 3, then what is the variance
of the resulting series ?

(a) 9975

(b)  199-75
(¢} 29925
(d)  399-25

What is the prebability that an interior point
in a circle 15 closer to the centre than to the
circumference 7

1

{ =

a) 7

m X

3

{ o

c) 1
id} It cannot be determined

If A and B are two events, then what is the
probability of occurrence of either event A or
event B ?

(a) P(A)+P(B)
(b} P(A UB)
(e} PANB)
(d) P(A)P(B)
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOUTARE TOLD TO DO 50
T.B.C. : EDF-S-DGV Test Booklet Series

TEST BOOKLET
MATHEMATICS

—— =
Time Allowed : Two Hours and Thirty Minutes Maximum Marks : 300
——— e e e — R T

INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TOEN QR MISSTNG PAGES OR ITEMS,
ETC. IF 80, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

2, Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Tesi
Hooklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepaney will render the Answer
Sheet liable for rejection.

3.  You have to enter vour Roll Number on the
Test Baooklet in the Box provided alongside,

DO NOT write anything else on the Test Booklet.

4. This Test Booklet contains 120 items (questions), Kach item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to mark
on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item,

5.  You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

6.  Allitems carry equal marks.

7.  Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

8,  After you have eompleted filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to
take away with you the Test Boolklet.

9.  Sheets for rough work are appended in the Test Booklet at the end,

10. Penalty for wrong answers !

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.
(i) There are four allernatives for the answer to every question, For each question for which a wrong answer

has heen given by the candidate, one-third of the marks assigned to that question will be deducted as
penalty.

{11} If & candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be eorrect and there will be same penalty as above to that question,

{iiit Tfa question is left hlank, ie, no answer is given by the candidate, there will be no penalty for that
question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
e . I ) el S T g % B 98 WA R |
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